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19.

42 — (6 + 9) — 8

Name: Date:

Teacher: Class:

Multiple Operations 305

Tongue Twister: Three tree toads tied together tried to trot
to town.

Remember to work out all the items in brackets first.

5 + (7 — 5) =
4 -2+ 8=

2 +11 - (7 + 4)
6 + 16 — (9 + 3)
10 + 2 — 2 =

10 - 10+ 8 — 8 + 9 =
5_4+4 =
23—(8+4)—6:

.8+ 4 -2 =

4 + (8—-2+4) -5-=
2+ (6 -2+ 4) -8 =
6 +6 —5=

2 +9 -9+ 9 =

8+ 8 -5+ 10 - 10 =
3 -3 +6=

8 -4+5-3+7=
7 -2+ (7T -6+ 6) =
19—(8+6):

2004 + (9 -7 +4) - 2 =
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19.
20.

Answer Key Date:

Teacher: Class:

Multiple Operations 305

Tongue Twister: Three tree toads tied together tried to trot
to town.

Remember to work out all the items in brackets first.

42 — (6 + 90 — 8 = 19
5+ (7 -5 =7
4 — 2 + 8 =10
2+ 11 — (7 +4) =2
6 + 16 — (9 + 3) = 10

10 + 2 — 2 =10

10 -10+8 -8+ 9 =09
S5 -4+ 4 =25

23 — (8 +4) -6 =5

8+ 4-2=10

4 +8-2+4)-5=09
2+ (6 -2+4) —-8=2
6+ 6 —5=7
2+9-9+9 =11

8+ 8 -5+ 10 - 10 = 11
3-3+6=06
8-4+5-3+7 =13
/1 -2+ (71 -6 +06) =12
19 - (8 +6) =5

4 + (9 -7+4) -2=28
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